AS Mathematics or Statistics S1
Please mark this test                Correct any wrong answers

1 PMCC = +0.4

This means strong positive correlation

2 X ~ B(20, 0.1)

P(X=5) = 5C20 x 0.120 x0.995
3 The residual is the difference between the actual y value and the value predicted by the PMCC

4 Anita takes three exams.  The probability of passing each exam is 0.4.  What is the probability of passing exactly one exam.

Answer = 0.4 x 0.4 x 0.6

5
Find the mean, mode and median

	x
	f

	10
	7

	11
	2

	12
	0

	13
	0

	14
	1


Mean = (7+2+0+0+1)/5 = 2

Mode = 7, the highest frequency

Median = 12, the middle one

